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41 | HIERL 45 56 101 18.0 83.0
42 | PE)IFEZ 41 50 91 7.0 84.0
43 | H kT 48 52 100 16.0 84.0
44 A HREEH 49 53 102 18.0 84.0
45 FAKRFL 48 46 94 9.0 85.0
46 | LA RERK 46 48 94 9.0 85. 0
47 | ARE— 46 49 95 10.0 85.0
48 R FEHX 46 49 95 10.0 85. 0
49 | JFAAER 47 49 96 11.0 85.0
50 | FAAYE— 50 55 105 20.0 85.0
51 | %= 47 45 92 6.0 86. 0
52 | BRI = 47 46 93 7.0 86. 0
53 | A1 48 46 94 8.0 86. 0
54 | HPE KRR 46 53 99 13.0 86. 0
55 | FOH{= 56 50 106 20.0 86. 0
56 = HARTH 47 44 91 4.0 87.0
57 | BT 45 47 92 5.0 87.0
58 | EEFRL 45 49 94 7.0 87.0
59 | FRiE 52 55 107 20.0 87.0
60  HLJIIEE 47 53 100 12.0 88.0
61  PFEERT 50 53 103 15.0 88. 0
62 | B[ 48 51 99 10.0 89. 0
63 | FRAEGE 48 54 102 13.0 89.0
64 | (i 58 48 106 17.0 89.0
65 | JRiE 52 56 108 19.0 89.0
66 @ {BEAK— 51 58 109 20.0 89.0
67 | EFIERE 48 52 100 10.0 90. 0
68 | [LUABETR 43 59 102 12.0 90.0
69 @ FHH—fE 57 58 115 25.0 90. 0
70 | WEHFEAK 52 51 103 12.0 91.0
71V EAAE 58 47 105 14.0 91.0
72 | dHFER 55 53 108 16.0 92.0
73 RRAAN— 53 58 111 19.0 92.0
4 | BB 52 54 106 11.0 95.0
75 | Eke 47 52 99 3.0 96. 0
76 | PSR 53 53 106 10.0 96. 0

BT —2A1
SR a7 (95.1)
LML= S EERA = SRR =

NEAE K 4 ouT I N V=0 SN Xk
1 ATEER 44 45 89 26. 0 63.0
2 | RIBIRER 38 40 78 8.0 70.0
3 EHEPEA 42 36 78 7.0 71.0
4 | FEEEFE 42 44 86 15.0 71.0
5 WA FA 47 45 92 18.0 74.0
6 HEHH 41 44 85 10.0 75.0
7 EBER 45 46 91 16.0 75.0
8  tEHE(E 43 41 84 8.0 76.0
9  PEHHEIR 43 45 88 12.0 76.0
10 FnE 39 43 82 5.0 77.0
11 FJFE—RR 43 41 84 7.0 77.0
12 FIRPED 49 46 95 18.0 77.0
13 | ks 39 41 80 2.0 78.0
14 HB— 40 47 87 9.0 78.0
15 | [ FHAA 46 47 93 15.0 78.0
16 | [fEH 42 44 86 7.0 79.0
17 | 1) AERAR 43 44 87 8.0 79.0
18 | APl 47 41 88 9.0 79.0
19 | FARSE= 42 47 89 10.0 79.0
20  JETEZ 46 47 93 14.0 79.0
21 KAARLF5L 51 44 95 16.0 79.0
22 WREAE 47 48 95 16.0 79.0
23 | dEASHLFN 49 47 96 17.0 79.0
24 | kB 50 49 99 20. 0 79.0
25 | dASTE A 47 47 94 14.0 80. 0
26 | fhHETR 41 40 81 0.0 81.0
27 | FJRMIR 40 46 86 5.0 81.0
28 | FAKIEE 43 44 87 6.0 81.0
29 | FEHILE 45 45 90 9.0 81.0
30 | [ARE 43 48 91 10.0 81.0
31 JHKE 48 44 92 11.0 81.0
32 | FrHHEE 44 50 94 13.0 81.0
33 | RIS 48 49 97 16.0 81.0
34 | EREE 59 57 116 35.0 81.0
35 | RREF L 42 44 86 4.0 82.0
36 | fHaH 45 42 87 5.0 82.0
37 | HIINEA 45 47 92 10. 0 82.0
38  JEHE(E 50 52 102 20. 0 82.0
39 PEHER 46 48 94 11.0 83.0
40 | BRITERE 46 49 95 12.0 83.0
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